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Roll Number

Name of the Candidate

Examination Name KVS TGT Sanskrit
Exam Date & Time 14-02-2023 03:00:00

Subject : GE_LQ01-Q10_TGT
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.

(a) the problems and dilemmas
(b)  of the middle class

(¢) Mohan Rakesh’s works

(d) are centred on

(1) () (©) (d) (a)

2 (9 (d) (@) (®)

(3)  (d) (@) (®) (©

(4) () (¢) (b) (d)

Options:-

.1, Option ID :- 1,
. 2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
Will he return the book to me ?

(1)  Will the book be returned to me ?

(2)  Will the book be returned to me by him ?
(3) Will I be returned the book by him ?
(4)

4 Will he be returning the book to me ?

Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 3, Option ID : -7

Question ID:- 3
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Fill in the blank with the correct preposition.

The star was quite annoyed the photographers for clicking his photographs repeatedly.
(1) to
(2) with
(3) from
(4) of
Options:-

.1, Option ID :- 9,
. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 2, OptionID : -10

Question ID:- 4

Identify the correct tense form of the underlined part in the given sentence.

By the middle of the century, India will have become a superpower.

(1) Simple Future

(2) Future Perfect
(3) Present Perfect
(4)

4 Future Perfect continuous

Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 5

Change the following sentence from Direct Speech to Indirect Speech.
“Will you help me solve the problem ?’ the scientist said to his colleague.

(1) The scientist asked his colleague to help him solve the problem.

(2)  The scientist asked his colleague if he will help him in solving the problem.
(3) If he would help him solve the problem the scientist asked his colleague.
(4) The scientist asked his colleague if he would help him solve the problem.

Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

- 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6
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Identify the part which contains an error.
The criminals / killed him / on the highway / by a dagger.

(1) ) (3) (4)

Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in meemjng to the given word.

OSCILLATE
(1) swing
(2) hang
(3) freeze
(4) tremble
Options:-

.1, Option ID :- 25,
« 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Choose the word opposite in meaning to the given word.

DECEASED
(1) healthy
(2) living
(3) excited
(4) comatose

Options:-

.1, Option ID :- 29,
- 2, Option ID :- 30,
. 3, Option ID :- 31,

. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9
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Identify the Part of Speech of the underlined word.
He exercises on all days of the week.

(1) Conjunction

(2) Adjective

(3) Pronoun

(4) Adverb
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Identify the clause in the underlined portion of the given sentence.

Let us be silent while she is sleeping .

(1) Principal Clause

(2) Noun Clause

(3) Adjective Clause

(4) Adverb Clause
Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 1, Option ID : -37

Subject : GH_Q11-Q20_TGTSANSKRIT

Question ID:- 11

Fr=fafes T F TeEt SR SHRT YY1 W2 SR S |

FANEH I T 1 IS T FId & | IR Hedl o1 o 77 &1 FSE 991 Hiods ¥ U el ¢ |
THfA 1% 1 SR & i ek STe T =fen ) 7% A Frer & TAF €1 Y JHR 6 a1 H R
et % dehe-geeR Teet FishTereht theh <l & ToRe St gt 9 e1ae =ret s &, 391 wehr forsy & =i s
H TG 3TF AT 1 gL F @ 2|

eI T HAAT o1 o T -

(1) ot =1 oft sFmn = geha &
(2) HfeTE & foerw &

(3) I ¥ fiyerman §

(4) & faea &

Options:-

.1, Option ID :- 41,
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. 2, Option ID :-
. 3, Option ID :-

. 4, Option ID :-
Answer Given:-

42,
43,
44,

2, Option ID : -42

Question ID:- 12

Fr=fafed T F Tewt SR AURd U9 1 F2ie SR S |

FAEHE HI 6 H qS T FLd & | I7eh Fedl o1 foh 77 &1 FE 991 Hios ¥ I 8l &1
Tgfery 6 1 SvaR § ot sifeer STeR e =R | U O FeR % 5EE €1 Y yeR e 6 99e § R
et o dehe-gcer Teot fehTereht thek o & foRe 3t gt 9 e1ae =t s €, 391 wehr forsy & =afa e
T UQTE 3T ST 1 G HL &l B |

Ha &1 faam o fF :

(1) ¥R &R 7% 99H B |

(2) EYR TE H T B E

(3) % Ta Wift % HEl H W1 T

(4) T IR I oft Aferw s g )
Options:-

.1, Option ID :- 45,
. 2, Option ID :- 46,
47,

48,
4, Option ID : -48

. 3, Option ID :-

. 4, Option ID :-
Answer Given:-

Question ID:- 13

Frefafas i #i gt AW efa Tv &1 H9dis W ey |

FEANGH 79 6 H IS HHMA FLd 9 | T FHa o Toh 77 1 TE a2t Fiodr H 9 2 ¢
T 76 1 STk H off S7feeh ST T =feu | % Ol el & T & | T4 YR =12 &1 991 § FRR
T8t & Fohe-Teer Teol Freprorent s g1 @ Rt st fagt § sroen =gt sren €, 59ty sy & =fa e
T HE 3HH STHUI h! gL F 4@l 2 |

eI o STTHR FHT I hell € 2
(1) el fagt 9 =1 aAm &

(2) fHEl & Fowg oI E

(3) HeFe-TeeR fHeTeRR wrer = €
(

4) ot O Fere-ver feee 39 fugl & we a9 @

Options:-

.1, Option ID :- 49,
. 2, Option ID :- 50,
51,

52,
4, Option ID : -52

. 3, Option ID :-

. 4, Option ID :-
Answer Given:-
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Question ID:- 14

frefafaa e =i ugHt AW Ui 99 %1 |die W gy |
FAREH ST 7% 1 IS A F 9 | ST Fe1 o1 T T 1 HLTE IS HfSAE § e &l 8 |

Options:-
.1, Option ID :- 53,

. 2, Option ID :- 54,
. 3, Option ID :- 55,

« 4, Option ID :- 56,
Answer Given:- 4, Option ID : -56

Question ID:- 15

Trefafaa T s gt AW HRa U9 &1 Hdls W alfey |

FANGH HI 6 H TS T F & | TR el o o 77 T 9% 991 HioTs I I el g1
Zafer T 1 SvaR § ot s1fHeR sTeR R =R | UF O FRR % wAE 81 Y YR S 1 99H § $RR
T2t & Fehe-TeeR Yoo FrehTetent theh g1 & TR St fiagt 9 eram st oemen &, St ek forsn & =ft s
H U6 I ST hl gL L <l § |

‘o T W@ A gEeR o Frefafag § 9 wéie @ #
(1) &= &SI

(2) ATt g

(3) wEd AR G FHM

(4) TR YT HT T

Options:-

.1, Option ID :- 57,
. 2, Option ID :- 58,
. 3, Option ID :- 59,

- 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16
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‘ardmfa’ o afy fa=eg ®

(1) &40+ 7
(2) 1w+ fa
(3) 31 + fq
(4) HUH+ T
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 3, Option ID : -63

Question ID:- 17

Fr=fafas 5 ToEres e 728 &
(1) =
(2)
(3) ©W
(4) T
Options:-

.1, Option ID :- 65,
. 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

AR o STTER FeH % 98§
() =X

(2) G

(3) @M

(4) =%
Options:-

.1, Option ID :- 69,
- 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

Question ID:- 19
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Treafafas & snfaersms g1 s 72 & ;

(1) =W
(2) 34
(3) <¥
(4) =T

Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 4, Option ID : -76

Question ID:- 20

(1) ==
(2) Huam
(3) femm
(4) d@
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 3, Option ID : -79

Subject : GA_Q21-Q30_TGTSANSKRIT

Question ID:- 21

Which Title/Book has been selected for the Sahitya Akademi Award 2022 in Urdu language ?
(1) Aadhi Ghazlen

(2) Ek Khanjar Paani Mein

(3) Khwab Saraab

(4) Mutthi Bhar Kahaniyan

34 A1 H HifEed STREH! JRRRR, 2022 % fau fomd giider/ g% &1 971 1 8 2

(1) 3R Tt

(2) T GSRUEH
(3) T W

(4) WIS W B

Options:-
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.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which of the following historical monuments, in India was not built by the British ?
(1) Golghar, Bihar

2)  Writers’ Building, West Bengal

3) Gateway of India, Maharashtra

(
(
(4) Gol Gumbaz, Karnataka

yra H fr=fafea § 9 feg tfaefos wre & faio 23St grn =& fn mn g 2
(1) TierEr - fasr

(2) zeH fafegy - ufeey e
(3) e 3k fean - e
(4) el eSS ~ e

Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 4, Option ID : -88

Question ID:- 23

Which of the following legislative houses in India are not subject to dissolution as per the Indian
Constitution ?

(a) Lok Sabha

(b) Rajya Sabha

(c) Vidhan Sabha

(d) Vidhan Parishad

Choose the correct answer from the codes below :

(1) only (b)

() (a) and (b)
(3) only (d)

(4) only (b) and (d)
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G % Hiau % SFER Yra § frefafea § 9 f faurh qweii o fages 7@ g 22
(a) I WYl

(b) T |l

(c) Taum |

(d) faum ufteg

=i faU 77U e § W& 3T F =FIA FIST
(1) aa (b)

(2) HAA (a) SR (b)
(3) I (d)
(4) ad (b) 3R (d)

Options:-

.1, Option ID :- 89,
. 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24

Which of the following is a Government of India initiative in Higher Education ?
(1) Unnat Bharat Abhiyan

(2) India International Skill Centre Network

(3) Ayushman Bharat Digital Mission

(4) PM-DAKSH

Frefafed 9 9 3= foen & &5 § 9Rd TR & 98 %H o § 2
(1) =1 ¥R AR

(2) sfea seviwma fera §eX "eas

(3) W R4 fefSead fiwm

(4) T T

Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25
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Which of the following options follows the correct chronology in which statehood was granted to
the following regions in India, starting from the region that was granted statehood first to the
last ?

(1) Nagaland —  Mizoram —  Meghalaya
(2) Meghalaya —  Mizoram —  Tripura

(3) Nagaland —  Arunanchal Pradesh —  Tripura

(4) Nagaland —  Tripura —  Mizoram

ad H Frafafad &6 1 T2 #1 g &3 %1 98 F1dwd &1 91 fasey <uim & oo wa ag 99 s &
58 wod qeat T3 <1 g1 fon 7 o i e | 9% 4 99 @e o= se | fean man an

(1) ¥ rmede —  fosis —  HEeA

(2) HuEE @ - fASEw - frgu

(3) AMMEiE -  EUEE WeW - fgu

4) iz - B - frsim
Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 4, Option ID : -100

Question ID:- 26

The mean annual average temperature is the highest in which of the following vegetation zones ?
(1) Tropical

2)  Sub-tropical
3) Temperate

(
(
(4) Alpine

Tre=fafed § | frg aeafa &9 § wea aifties sired aroee Saifees 26 2

(1) IorRfesst

(2) SUTSEEfCEE

(3) ftdren

(4) TeEA
Options:-

.1, Option ID :- 101,
« 2, Option ID :- 102,
. 3, Option ID :- 103,

- 4, Option ID :- 104,
Answer Given:- 1, Option ID : -101

Question ID:- 27
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Who among the following is the Tenzing Norgay National Adventure Award winner of 2021 for
Land Adventure ?

(1) Naina Dhakad

(2) Nir Bahadur Gurung
(3) Jerlin Anika ]
(4) Sarita

We ugd=R & fau 2021 =1 dAfST A0 T9a tsd =R oqare fefatag § 9 fee S ?

(1) 5 =g
(2) RERGLIET
(3) Sifeid AfeRT
(4) gt
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Which of the following is an Italian bee variety used for commercial honey production ?
(1) Apis cerana indica

(2) A. mellifera

(3) A. dorsata

(4) A. florae

(1) ufug fawm gfean
(2) T HEwd
(3) T SHEREI
(4) T YN
Options:-

.1, Option ID :- 109,
« 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 2, Option ID : -110

Question ID:- 29



https://aview.in/
https://aview.in/category/previous-papers/

Which of the following examples most, appropriately represents the “diligence” characteristic of
the computer ?

(1) Calculation and generation of the salary slips of thousands of employees of an organization
(2)  Result of division of any two numbers up to 10 decimal places

(3) Performing long and complex calculations with the same speed and accuracy from the start
till the end

(4) At one moment one can use the computer to prepare a letter document and in the next
moment one may play music or print a document

Trfafea § & =iF 1 3eret FF9geX ®l qREHd’ (Diligence) Haelt fowioen =1 waifees wal alteh 4

9T & 2

(1) Tt Gired & TRl shH=1fdl o 39 st AT A1 $IR 9q U= Sde &R

(2) 10 S¥HCTEI q% i [H=l ol GEAIsl H HETR

(3) IRY | 3{q q st AR Sfea el w1 guE fa i gfwrgs 8w

(4) TF &0 H FHFEOF FH AN T g9 H FO SR T &0 SHW Hd SSiE Sgdl i SigHe e
FHEAT

Options:-

.1, Option ID :- 113,
. 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 3, Option ID : -115

Question ID:- 30

Which among the following was a bilateral exercise conducted by the Indian Navy in 2022 ?
(1) Exercise KAKADU 2022

2) Bonosagar 2022

3) Malabar 2022

(
(
(4)  Milan 2022

79 2022 § wRAE 8 g frefataa § 9 %9 @ fguala svem e o an?
(1) UFREES FEHE (KAKADU), 2022

(2) SFERR 2022

(3) HIETER 2022

(4) fHam 2022
Options:-

.1, Option ID :- 117,
« 2, Option ID :- 118,
. 3, Option ID :- 119,
. 4, Option ID :- 120,
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Answer Given:- 3, Option ID : -119

Subject : RA _Q31-Q35_TGTSANSKRIT
Question ID:- 31

The given question is based on following information :

A@B means ‘A is husband of B’;

A#B means “A is sister of B’;

A*B means ‘A is mother of B’;

AaB means ‘A is son of B'.

Which of the following indicates the relationship ‘T is daughter of V' ?
(1) V*D#TeH

(2) V*D#HeT
(3) T#HeD*V
(4) T#HeD@V

Tean wn wea fa=fafeg st w enafa ® :

A@B w1 334 & - ‘A, ufa & BwT;

A#B FT 3 T - ‘A, T TBFT;

A*B HI 3 ¥ - ‘A, AT BHY;

AeBH 54 & - A, TAEBH|

frefafed § @ @ @ fagwey ‘T, V&l g3 & a2 &1 <9I § 2
(1) V*D#TeH

(2) V*D#HeT

(3) T#HeD*V

(4) T#HeD@V

Options:-

.1, Option ID :- 121,
« 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32
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Three statements showing relationships have been given, which are followed by two conclusions,
I and II. Assuming that the given statements are definitely true, find out which of the conclusions
is/are true.

Statements :
1. M=R
2. P>M
5. R=0Q
Conclusions :
(I) R<P
(I) P>Q
(1) Only conclusion (I) is true
(2) Only conclusion (II) is true
(3) Both conclusions (I) and (II) are true
(4) Neither conclusion (I) nor (II) is true

9 Heay g9 e i w9 feg ¥ o geE @ e - 19k 1 few e ¥ ) = Aea gu fE fen
He HEl €1 U T wifee fr e gy Fed e v & wd $E 2

YA :
1 M=z=R
2 P>M
3. R=Q
frend
() R<P
(I P>Q

(1) Faa fe=rd (1) TE &

(2) “hea fewd (1) T @

(@) T (1) @i () S T ¥

(4) Sl frepdl & | o o T2 E §

Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 3, Option ID : -127

Question ID:- 33
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Eight friends F, G, H, ], K, L, M and N are sitting around a circular table, facing to the centre but
not necessarily in the same order. "H’ sits immediate to the right of ‘G’. Two persons sit between ‘F’
and ‘G’. One person sits between ‘H’ and ‘J". ’]" faces to ‘K’. ‘G" and ‘K’ are not immediate neighbours
of each other. ‘N’ sits second to the left of ‘M’. Three persons sit between ‘L’ and ‘M’. Who sits
immediate right of ‘L’ ?

() H
(2) ]

(3) K
4 M

s A F, G, H, ], K, L, M 3 N U JTFR 75 o 911 SR 39h = Bl 3K 5 FToh o9 U ¢ | fohg s+t
%9 H & &6 ¥ 1, ‘G’ % Ushed gl 3R 991 § 1 ‘F $i‘G’ % &g &1 = o3 € 1 SR T % oY U
=g da1 €1 T, ‘K % G 981 ¥ 1°GY #UK T g % Ushed v 7€ 1N, ‘M % Wit iR gE
WM W AST ¢ 1L M % 919 diF o 33 § 1L % e Tl iR S de8 § 2

() H

(2 ]

(3) K

(4) M
Options:-

.1, Option ID :- 129,
« 2, Option ID :- 130,
. 3, Option ID :- 131,

- 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

Three statements are given, followed by three conclusions I, IT and III. you have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements.

Statements :
1.  Some flowers are trees.
2, All trees are gardens.
3.  All gardens are jungles.
Conclusions :
(I)  Some jungles are flowers
(II)  All gardens are trees
(II) Some jungles are trees

(1)  Only Conclusion (I) and (II) follows
(2) Only Conclusion (I) and (III) follows
(3)  Only Conclusion (II) and (III) follows
(4)  All conclusions follows
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g 19 Fue feu g € 5 a1 i fewd - 1 11 s 101 o 7w 3| eaepl 37 el 1 98 oA S TR o
I 9 e o fae o= 9 @) g Fo Fifse fe s gva fAeed fou 1o el | aifbe w9 9
Toereran #7282

heH
1. P9 Fa IS T
2. Tt U o B
3. |V o A €
fend
) FSSTaEFAL
1) Tfi T TSl

() FS A ISEI

(1) aa fFred - (1) 1R (1) e &

(2) e Frwy - (1) @i () Frere ®
(3) FHad Fremd - (11) iR (111) ferera §
(4) Tt e frepera ®

Options:-

.1, Option ID :- 133,
« 2, Option ID :- 134,
. 3, Option ID :- 135,

- 4, Option ID :- 136,
Answer Given:- 2, Option ID : -134

Question ID:- 35
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Choose the Venn diagram from the options which represent the correct relationship amongst the
given classes :

Females, Sisters, Aunts

@
@
13
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feu 7o fasredi § § UF 99 210 &1 =97 HiToe S & 7u ol % " 98 ey o1 g §
Hfgelrd, o84, g3

@
@
€D

.1, Option ID :- 137,
« 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_TGTSANSKRIT
Question ID:- 36

Which of the following is not an input device ?
(1) Touchpad

(2) LED Panel
(3) Scanner
(4) Light Pen

Frefafed & @ 701 w g feapg @i & 2

(1) =z=ue

(2) TAE S e
(3) THT

(4) R
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Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

Which of the following is the smallest memory unit in the given options ?
(1) Peta Byte

(2) Giga Byte
(3) Kilo Byte
(4) Mega Byte

9 fau mu foepedi & 9 forge 96 e weR #m & 2

(1) deraEe

(2) T AT

(3) Terel amge

(4) T
Options:-

.1, Option ID :- 145,
« 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38

Which of the following is an Open Source Operating System ?
(1) MS Windows

(2) Linux
(3) UNIX
(4) MacOS

frafafed § 9 #F-91 T 3vm 9 e faea § 2

(1) TuHTH fHee

(2) TETE

(3) I

(4) T sl UH
Options:-

.1, Option ID :- 149,
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« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

Question ID:- 39

is an Antivirus software.

(1) MS Office

(2) Acrobat Reader

(3) Tally

(4) Mcafee

T U aEE GRaH 2

(1) ©H TH AT

(2) ThEE =

(3) <l

(4) HHFH
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

Hamid Khan is interested in tabulating sales data and analyzing it with graphical representations
using an open source software, which of the following will you suggest for the same ?

(1) Calc

(2) Writer
(3) Impress
(4) MS Excel

BIHE W 2174 foeh! 21 &1 TRUlEg i 3 Uk 39T i ez’ o Tar & A6 TRl &
el STRT Ta9ermu i & T9g € | 3T 39 fo frefafed & 9 feae ggm €7 2

s

(1) chiesh

(2) WX

(3) =

(4) THTH T
Options:-

.1, Option ID :- 157,
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« 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 4, Option ID : -160

Subject : UL_Q41-Q50_TGTSANSKRIT
Question ID:- 41

Children imbibe the family values through :
(1) Vicarious learning

(2) Experiential learning
(3) Associative learning
(4) Insight learning

T g TeTm ¥ fEr % gl 1 SIeTEn F © 2
(1) gfafrudes sifamm g

(2) SIHEIHS e R

(3) He=Hl R g

(4) Fgne sy BRI

Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

- 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Question ID:- 42

For which one of the following reasons, the parents of a child should not prefer homeschooling ?
(1) The school learning environment is not democratic.

(2) The child learns at a higher rate than his peers.

(3) The child is a good player of football and the school has no football team.

(4)  The school culture follows social exclusion.

frfafad § 9 forg &R0 9 a@® & AfI9EsHi ®1 ] W 9eE FHA( STEh@) $1 NfHeEd T8l S
=1y ?

(1) faermem =1 sifenms SrdreRor SRt @ 2

(2) TS ST Hewfedi H eThe oW fa ¥ Hraa €1

(3) TS Fead o T=1 fgers § iR faener § Feard it FE 2H 6 2

(4) foarem #it gewfa gmfss afeso &1 aem FEd 8

Options:-
.1, Option ID :- 165,



https://aview.in/
https://aview.in/category/previous-papers/

« 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 1, Option ID : -165

Question ID:- 43

In the context of the cognitive development of adolescents, which one of the following is not
correct ?

(1) Adolescents can understand abstract principles.

(2)  Adolescents solve problems preferably through trial and error.
(3) Adolescents can tentatively guess.
(

4) Adolescents can learn through insight learning.

TRl & Hsrreas o % deol #, frafafaa § 9 sm-w gt 78 €2
(1) oI erd fasidl 1 Toe |ehd 2 |

(2) T sifmma: yarg <R Ffefafa § goen oy & €

(3) forvir sl ®9 9§ oFHE o W © |

(4) Toeir sragfie sifermg & ororg @ dha 9 €

Options:-

.1, Option ID :- 169,
« 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

To promote the mental health of the adolescent students, a teacher should focus on their
(1) self-esteem

(2) coping strategies
(3) self-efficacy
(4) empathy

T foreiiy foranedl < AMfoer Ty & ga@ <4 & fay e =i fHy W= e o =i ?
(1) =fyEE ®

(2) faam e Hifadi «

(3) TE-&Hd T

(4) YT

Options:-

.1, Option ID :- 173,

« 2, Option ID :- 174,
. 3, Option ID :- 175,
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- 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

Cognitive development among humans is a type of :
(I) Quantitative and discontinuous change

(2) Qualitative and continuous change
(3) Quantitative and continuous change
(4) Qualitative and discontinuous change
TTe o1 SR e T TR =1 8-

(1) HEES SR A aRed |

2) [UTeHE SR Hed IREd |

3) HEHE IR gad uiEd |

(
(
(4) TN SR A qRE |
Options:-

.1, Option ID :- 177,

« 2, Option ID :- 178,

. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Among humans, which one of the following activities does not require fine motor skills ?
(I) Grasping a toy

(2) Tieing shoe laces

(3) Jumping at a place

(4) Buttoning a shirt

g ¥ frefafaa § 9 fa T & fag o= 7ifas S+t %3 760 2nil © 2
(1) fodi faeim = FEe THeT

(2) [0 % WId FE
(3) TeRdl o o e
(4) HHS % F2A A
Options:-

.1, Option ID :- 181,

. 2, Option ID :- 182,

. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 1, Option ID : -181
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Question ID:- 47

The facial expressions of infants are the reliable indicator of their
(I) Cognitive experience

(2) Social experience
(3) Moral experience
(

4) Emotional experience

Torggedi % =@t & 3@ wa TR favas Hhas € 2
(1) HIATHS 9 5

(2) HHISE STI9E *

(3) Afaw T vE F

(4) oA FWE ok

Options:-

.1, Option ID :- 185,
« 2, Option ID :- 186,
. 3, Option ID :- 187,

- 4, Option ID :- 188,
Answer Given:- 4, Option ID : -188

Question ID:- 48

In the context of human development, a researcher intends to explore the coping skills among
students at one time. The researcher can adopt :

(1) Cross-sectional design

(2) Longitudinal design

(3) Solomon Four Group Design
(

4)  Cross-sequential design

e faema % Hesl §, STEuETl U 999 W D o (6T e i Sirg HT 9edl ¢ | STHE ek
fopg AfvehreT =1 o771 TRt § 2

(1) egsa-ufiEss Afyshed
2) s iRy

3) HiAmT IgHge Afqwed
4) Yfd-SATeRHE AYHey

Options:-
.1, Option ID :- 189,

(
(
(

« 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49
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In the context of heredity and environment, read the following :
(A) Heredity determines what the child can do.

(B) Environment determines what the child can do.

(C) Heredity determines what the child does

(D) Environment determines what the child does.

Which one of the following option is correct ?

(1) Only Cis correct

2) A and B are correct

3) A and D are correct

4) Only B is correct

(
(
(
SRR SR ardER + Hed H fFefataa w1 ufe -

(A) sTERERa 7 fuffta st @ f aerh =0 2 g 2
(B) amareRy I fAeffia svan & fo serer @ T Sl |
(C) safoer 7 fruifa =t & f a0 % 8
(D) aTdreRY 7 Feifta s & o o 41 L g
Frefafed § ¥ w@-a fowes w8 §2

(1) ad (C) T&l &

2) (A) @R (B) @&l &

3) (A) 3R (D) wE ¥

4) Fad (B) TEI®

Options:-

.1, Option ID :- 193,
. 2, Option ID :- 194,

(
(
(

« 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50

Which one of the following is a correct option ?

(1) Development and maturation occur simultaneously with growth.
(2) Growth and maturation occur simultaneously with development
(3) Growth and development occur simultaneously with maturation
(

4)  Development precedes growth but occurs simultaneously with maturation.
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frafaftea § | w91 fase wdt g2

(1) o iR uftgeem, gfg % gy & )

(2) 3fs iR aftugss fawm & Tu-org g €

(3) dfg iR faswm aftasas o we-ag 2 €1

(4) Torrm gfis & veat 2 @ fohg afiveee 3 wie-wny 3 8

Options:-

.1, Option ID :- 197,
« 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 3, Option ID : -199

Subject : UTL_Q51-Q65_TGTSANSKRIT

Question ID:- 51

Which of the following is not a characteristic of Constructivism ?

(1) Teacher’s role as a facilitator

2) Learning through experiences

3) Students not confronted with problematic situations
4) Child Centred curriculum

(
(
(

Frefafad ®§ | @0 waETE #) uF foered 7@ € 2

(1)  3T=AT9% =l Tk Ylaen —Jam $i giaem

(2) WS & " 9 s

(3) i w1 g feafadl a6 s ged ¥
(4) SA-hiza wH=

Options:-

.1, Option ID :- 201,
. 2, Option ID :- 202,
. 3, Option ID :- 203,

- 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52

Which one of the following is not a role of teacher in play way method ?
(1) Creating learning environment

(2) Arranging relevant teaching-learning materials

(3) Arranging learning activities from simple to complex
(

4)  Evaluating the students through play way activities
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Freafafaa § | @@ (@A) fafa d sreames #1 yftes @0 7@ 2 ?
(1)  sIferry e gied w3

(2)  HTE foregur-SAferTs Wt W SrEE I

(3) AferTH Torampardl =l TXel § Sifed i ST SFafEgd
(4) @ Torarraml & T2 | Sl Hedied HEl

Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

Under which condition the demonstration method is not suitable ?
When :

(1) Lesson is to be introduced as a problem.

(2) Sufficient materials are available for individual experimentation.
(3) Experiment is time consuming,
(

4)  Teacher centred approach is to be practised.

forg feafa # yevHfafy &1 w&m 3 S99 &1 € ?

SE

(1) T3 %I TFH e & 9 H 95qd fohan S 81|
(2) Safads FE & foe waia el Suers @)
(3) TART L H WHI TR B |

(4) SIEATIF-hi=d SURTH =1 4T foman S &1
Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 4, Option ID : -212

Question ID:- 54

Why is intrinsic motivation better than extrinsic motivation for learning ?
(1) It helps seek reward from parents/teachers.

(2) Itis longer lasting,.
(3)

(

4)  In it creativity is a casuality.

It does not lay emphasis on high quality learning.
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FAfer o foaw arer sIfswon =t s19er tidiier Sy s agdt 82
(1) =@ AT/ S1eAT9eh] ¥ Q0RO & | Ferddl il ¢ |
(2) F% ST HH G 2

(3) ¥E Io UGN SR W §e TEl ot §
(4) IHH geHITFRA FHYE B

Options:-

.1, Option ID :- 213,

. 2, Option ID :- 214,

. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

Which of the following statements is not correct ?

(1) Curriculum is a complete set and very broad in nature.
(2) Syllabus includes intended outcomes to be managed for students in an educational set up.
(3) Syllabus is descriptive in nature.

(

4)  Curriculum includes the planned and guided learning experiences.

Frefafas § @ %9 @ wye gt T8 &2

(1) weF=a uw Hvl d2 § iR wefa § e fawga 21

(2) wEEsEA H foret Safor g F o & fau =afer e sm ae smafra ofom e @@ 2
(3) UIEHHH FUHTCHSE YHfd 1 B B

(4) RFFA H A SR wri-FERE stfar sve e € €

Options:-

.1, Option ID :- 217,
« 2, Option ID :- 218,
. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Question ID:- 56

Minimum levels of learning programme does not lay much emphasis on :
(I) Learning at the pace of students

(2) Immediate feedback
(3) Mastery learning

(

4) Course completion
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=JaH AT w1 FEEE H e W sfhw 9a T8 fom s g 2
(1) Teenferi =1 nfa 1&g sifmy

(2) deRlel Hiagfee
(3) e e
(4)  TH = T FHE
Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

« 4, Option ID :- 224,
Answer Given:- 4, Option ID : -224

Question ID:- 57

Which one of the following statements is correct about development of language abilities of
children ?

(1) Implementing three language formula can pose complex difficulties and hence be avoided.

(2) Children come to school with extremely limited language abilities as language is a complex
rule governed system.

(3) Multilingualismis a typical feature of Indian linguistic diversity and must be used as a resource.

(4) Home language of children can seriously interfere with their formal learning and should be
avoided as medium of instruction.

T I T Hee Argan & faw & 9n ¥ fefafed § 4 w9 e gd g ?

(1) - g7 an) w3 & Sfeaar o= & gedt § iR sufen 398 =1 s e |

(2) dI STAfHE G T Fal & WY el 3T ¢ ith 9T Uk sifed fm senfid yomedt €1

(3) EE-THI, SR i W fafasrar =t uw fafire fadm & oIR 39 v HueE % w9 H g1 e s
=ifg |

(4) STETR Y € 9T S g aafirmy § o I gEe St € o) 39 e & Heay s 9 9
ST ST =18

Options:-

.1, Option ID :- 225,
« 2, Option ID :- 226,
. 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58
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Which of the following represents correct learning cycle of ‘Experiential learning” ?

(1) Keen observation — Concrete experience — Active experimentation — Abstract
Conceptualisation

(2) Concrete experience — Active experimentation — Reflective observation — Abstract
Conceptualisation

(3) Concrete experience — Reflective Observation — Abstract Conceptualisation — Active
experimentation

(4) Experimentation — experience — reflection — abstract conceptualisation

Frefafed § 9 wma  sivares firm’ & 98t siferm = = el s g2
(1) &R EeAHT — T ]9 — Hlohd TR — A AHAHTH

) Hd SAHE — Hiha 9AN — fEaeia sEeeT — oTd Sycdietl

) Hd oHva — fHdaie sEdthT — Yd Gy — ihd YR

4) WA — YA — T — SHd S

(2
(3
(

Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

« 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which one of the following is not an objective of “Continuous and comprehensive evaluation” ?
(I) To use evaluation as a device to bridge gap between actual and desired performance
(2) To make memorization as basis of all learning

(3) To take appropriate decisions about the student, the process of learning and learning
environment

(4) To help develop cognitive, psychomotor and affective aspects of students’ personality

Frefafas & § =0 ‘gaa iR =0 geiw’ F1 U 389 Tel § 2

(1) arfas AR Fifed ¥e3iH & o= &1 gi FH F F TH STH & € § Jodihd H TA S

(2) T ] W SAATH HT SER T

(3) famnedl, sifepmm gfsran iR saferme amamerer % & # @@ fofa o

(4) fornfefi o =afader % WIS, HHANE (WEHMER) SR e degs W fawfi e b
HETFdl HEAl

Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,
« 4, Option ID :- 236,
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Answer Given:- 2, Option ID : -234

Question ID:- 60

Which of the following is associated with a unit test ?
(1) Standardized achievement tests

(2) Prognostic tests
(3) Diagnostic tests
(

4) Summative assessment

Frefafad 5 | ®F W ghE-ai"o § Hafkd § 7
(1) HF% Iuefe e

(2) garEE T

(3) eI e

(4) ARTCHF SRTH
Options:-

.1, Option ID :- 237,
« 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61

Which one of the following will not Constitute teacher’s responsibility in assessment of learning ?
(1) Ensuring that objectives of the assessment tasks are clearly understood by students

(2) Providing unlimited time for completion of the tasks

(3) Being sensitive to the challenges faced by some students in completing the tasks
(

4)  Collecting sufficient evidences to base their decisions

HferTe % seher | sreATass i frer) frfafaa 5 | 0 78 82

(1) Ie gffyea o for faenfeei 3 smrem wef % vl = e w9 4 gug fomn §
(2) Ml F YU FA o TAU AT THA G FHEA

(3) T H T HA H FS DO F T N T A 6 Jid HoeTena s
(4) 3 Tl & SnuR % foTT v wied U Tl

Options:-

.1, Option ID :- 241,

. 2, Option ID :- 242,

. 3, Option ID :- 243,

- 4, Option ID :- 244,
Answer Given:- 4, Option ID : -244

Question ID:- 62
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Diagnostic and formative assessments are two phases of :
(1) Assessment of learning

(2) Assessment as learning

(3) Assessment of quality of TLM

(4) Assessment for learning

Qe iR T=ATHE e % 2 =
(1) AT =1 AR

(2) AferT % ®UH TR

(3) 21 UA UH =i UG I SHHA
(4) eferm W fog SRR

Options:-

.1, Option ID :- 245,

. 2, Option ID :- 246,

. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

A teacher first tells the rule and principle and then cites examples to explain the concept, she/he is
adopting :

(1) Explanatory approach

(2) Investigatory approach
(3)

(4) Inductive approach

Deductive approach

T 37919 Uged T 3 fgr o o § &drd1 8 3R R Hehedd1 1 ¥ & & fau %= 38 &dl
¥ 1 98 HH 91 SINTH 2791 W E 2

(1) foaomeHsh 39

(2) FAEYUHE SIRTH

(3) TS SAETH

(4) SATHAREE UM

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 3, Option ID : -251

Question ID:- 64
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The most important quality of an effective teacher is :
(I) His deep knowledge about the subject taught
(2) Being strict disciplinarian

(3) Being a good motivator

(4) Being popular among students

e GTE STEATIe 31 Haifde Heeqol 07 8 @
(1) ve T faug &% IR § o0 I@ A

(2) SR SFEARGE B
(3) U 7B ULh Bl

(4) BEF =" Ay B
Options:-

.1, Option ID :- 253,

. 2, Option ID :- 254,

. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

The best rationale for the use of Audio visual aids lies in the fact that it :
(1) 1is just other way of doing things

(2) makes learning concrete

(3) activates two senses

(4) facilitates teaching-learning process

oA -39 FHIT 1 FART A 1 T 9S THYR 98 § 4
(1) &% M F F O Th g8 TH ©

(2) @% ferm = 3 T '

(3) ¥ &l AT il Hishd HLl @

(4) =@ Tovero-stferms gfsran =1 Yo SAm 2 |

Options:-

.1, Option ID :- 257,
« 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Subject : CCLE_Q66-Q80_TGTSANSKRIT

Question ID:- 66
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An inclusive society understands, accepts and respects
(1)  disability

(2) diversity

(3) diversity as well as disability

(4) homogeniety

Tk A TS ford Toem, TSR &al 7 SHH 36T i § ?

(1) T
(2) fafeaem
(3) Tafawydr & wma-—ayg e
(4)  HHTE
Options:-

.1, Option ID :- 261,
« 2, Option ID :- 262,
. 3, Option ID :- 263,

- 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Rights of persons with Disabilities Act, 2016 identifies how many types of disabilities :
(1) 29

(2) 17
(3) 23
4) 21

v =afaa safaepe saferm 2016, foRa warr =1 Fovreansti @i Tea™ w1 € 7

(1) 29
(2) 17
(3) 23
(4) 21

Options:-

.1, Option ID :- 265,
« 2, Option ID :- 266,
. 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68
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Which one of the following is a correct statement ?

(1) The guidance of a person means he/she has been counselled.
(2) The counselling of a person means he/she has been guided.

(3) The guidance and counselling of a person are two different issues.
(

4) The counselling of a person means he/she mandatorily needs guidance .

frefafea © @ 20 @ 93 98§72
(1) Tt =afaa & Ariee &1 o1 § foF 39 oomst fean man 21

(2) Terelt =afaa =61 Tamel <7 &1 219 © T Sue Anieem fofan 0 2
(3) Tordlt =afe o1 mmieei= e oi <8 ot &, <) sterT-sten geg ¥
(4) Tt =xfo 1 ool 33 1 @i ¥ fop S9 aifamd w9 3 aeiee w6t stevEsar #1

Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

The Mental Health Care Act, was enacted in the year :

(1) 2016
2) 2017
(3) 2018
(4) 2012

AT e ey Atufae Ty od o s mEn o9 ?

(1) 2016
(2) 2017
(3) 2018
(4) 2012
Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 1, Option ID : -273

Question ID:- 70
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In school how can some creativity among the students may be enhanced in science subject ?
(1) While doing practical’s in the laboratory

(2) During teaching learning scenario in classroom

(3) While doing activity for some concept in classroom
(

4)  While conducting experiments in the laboratory

foame o BEl | foaar faw & 9§ 8 g ® {6 TR 9gr ST Hehdl © 2
(1) 9AFTITen H 94 i 99

(2) wa H fa-sifarm g9 & ERE

(3) & H F Heheuisil & foru fopan sed 9ux

(4)  wErTIe H qderl Hd §99

Options:-

.1, Option ID :- 277,
. 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Question ID:- 71

Which one of the following topic cannot be taught, to the school students, through ‘community as
a learning resource’ ?

(1) Concept of centrifugation
(2) Concept of animal diversity
(3) Concept of acid and base
(4) Concept of atomic structure

‘“ua Afer e % 9 H 9’ % W 9 Thall 261 6 hF 91 fave Te wern s ged @ 2

(1) SAYH=YT i HehedH

(2) Ty-fafauar & Hewea

(3) oA SR &R Tl Fehed

(4)  ITHIY] HEEAT ] HHedl
Options:-

.1, Option ID :- 281,
. 2, Option ID :- 282,
. 3, Option ID :- 283,

- 4, Option ID :- 284,
Answer Given:- 1, Option ID : -281

Question ID:- 72
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In what way a nearby college can help the adjoining schools ?

(1) College teachers start taking weekly classes in schools

2)  School students visit college and interact with college students
3) College teachers start training school teachers

(
(
(

4)  School and colleges mutually share their human and physical resources

Trepead! Thell ol U Helfgenerd HY Terd H Hehdl § ?

(1) e foes Shal 8 arafes Fad o 96 #1

2) TFCl B HeS SR shierst & faenfaEl | siafdan

3) e o7 ket o foramnl ot gfvnerr g9 v &l

4) T R HTere 79 HEEE SR ifdes dareEt ot Sodt e Y

(
(
(

Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

« 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

Three adjoining school can enrich themselves by :
(1) Following a common annual calendar

(2) Loaning teachers to each other from time to time

(3) Set common goals and share with each other, their resources and experiences
(

4) Having common staff meetings

3 T o o Thdl Tk gEL %1 GaUT HH H THhd © 7
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(2) HHT HHY W TF gE T TOHF SUR S

(3) U WHM %I T4 Y, Teh gHL o WY AT HHIE 3 3T9a] b1 HIE ik
(4) RTF i SHI TSk Hh

Options:-

.1, Option ID :- 289,

. 2, Option ID :- 290,

. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74
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There are 12 sitting and chatting points in a community. What can an adjoining ‘Gandhi Memorial
school” can do for them ?

(1) Teachers go there and conduct lively open discussion session on social issues
(2)  School request people over there to send their children to school

(3)  Teachers conduct a 10 minute book reading session at each point

(4) Request people at every point to frequently visit the school and give suggestions

T ™ H 12 927 iR == 01 & T € | Freee =1 iielt w9fa e’ <726 o = o6 whan €2
(1) ST T@I ST EHIST el W Sia gell =49 i

) TR el 3% SRl 1 Thel U 1 S

) WO ¥ W AT <F e o gEdeh s | STEifei whi
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Options:-

.1, Option ID :- 293,
. 2, Option ID :- 294,
. 3, Option ID :- 295,

- 4, Option ID :- 296,
Answer Given:- 4, Option ID : -296

Question ID:- 75

Which one of the following options can help improve a school ?
(1)  Analysis of winnings and defeats in sports in last 2 years
(2)  Analysis of school results of last five years

(3) Analysis of data of achievements in curricular and co-curricular activities
(

4)  Data analysis of best teacher prizes won by school teachers

T Tl 1 a8 M § 1 | § %9 W foashew 9 € 9o € 2
(1) Tuzel 294 § well § ) Sidi 1 fagers

(2) o= 536 & Bha qiRomE =1 favemm

(3) URFTAE TS Uigd e fdfafeEi i Susferd % yadi w1 favers
(4) T o AR 5N HArH freen qEERR & weT! o faverm
Options:-

.1, Option ID :- 297,

« 2, Option ID :- 298,

. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76
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By which one way Mrs. Jadhav can improve her teaching learning skills.
(I) Reading two books every month

(2) Study the annual results of her class students

(3) Comprehensive self analysis of her performance in every field
(

4)  Her teacher colleagues observe her teaching and give suggestions to her

el 2121, divl SteE ST foe- i el § R UeR GUR o TRl 8 2
(1) 9o o S g TEHt

(2) STt man & faenfea & anfides adtan aftomdl =1 siers
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Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

Which one of the following school processes should be strengthened to better overall school
performance ?

(1) Time spent in taking attendance and fee collection

(2) Time spent in group based, team building and project completion followed by discussion
(3) Time spent in school prayer

(4) Time spent in laboratory experiment conduction

el i Fehel TToqeeRal il HSted #3 og 9§ 9 &F 9t gfiea ) 9a o =nfee ?
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Options:-

.1, Option ID :- 305,

. 2, Option ID :- 306,

. 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306

Question ID:- 78
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The new structure proposed for school level education by NEP-2020 is ?
(1) 5+3+4

2y 243+3+4

3) 3+2+3+4

(
(
(4) 5+3+3+4

el TR e 89 NEP-2020 R e g7 §9 &7 § 2
(1) 5+3+4

2) 2+3+3+4
3) 3+2+3+4
(4) 5+3+3+4
Options:-

.1, Option ID :- 309,

. 2, Option ID :- 310,

. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

Why schools should give special emphasis on the education of handicapped children ? Choose the
best option :

(1)  Such children are the gift of God

(2) Such children need care and sympathy

(3) Itis the right of such children

(4) Such children might have good mental potential

Teeain == &1 e W whel! w1 # fasm = e =fen 2 gddne fase @1 =
1) U SIerh $Y i S §
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4) UH SroEsl H STeS HHATES ST @ ehdl ©

Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80
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Which one type of curriculum will be most suitable for teaching VI class students ?
(1) Subject centered curriculum

(2) Activity curriculum

(3) Fused curriculum

(4) Teacher centered curriculum
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(1) oz wfzga gzt

(2) Tifdfafy sraF=ai
(3) HerEd wEEEA
(4) ABATIF Hf=d TEA=A

Options:-

.1, Option ID :- 317,
« 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : Sanskrit_Q81-Q180_TGTSANSKRIT

Question ID:- 81
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Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
. 3, Option ID :- 323,

- 4, Option ID :- 324,
Answer Given:- 2, Option ID : -322

Question ID:- 82
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Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83
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Options:-

.1, Option ID :- 329,

. 2, Option ID :- 330,

. 3, Option ID :- 331,

. 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330
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Question ID:- 84
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Options:-

.1, Option ID :- 333,

. 2, Option ID :- 334,

. 3, Option ID :- 335,

« 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85
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Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86
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Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341
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Options:-
.1, Option ID :- 345,
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« 2, Option ID :- 346,
. 3, Option ID :- 347,

« 4, Option ID :- 348,
Answer Given:- 3, Option ID : -347

Question ID:- 88
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Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,

« 4, Option ID :- 352,
Answer Given:- 2, Option ID : -350
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(3) SHHHY

(4) EEETA
Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
. 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355
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Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 1, Option ID : -357
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Options:-
.1, Option ID :- 361,
« 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364
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Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

- 4, Option ID :- 368,
Answer Given:- 3, Option ID : -367
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m:w:ﬁazw:aﬁﬁazﬁw@n

FHHHY YW Heh: Heh: (U 9 1311

T[ON: TRy O e, o ol ure safa g

STEETRIATA: Tegl=l 72l: HHZHEE a=audl: |14 11

sl fofer Saaren femrerl = Tmfears: |

aTodl drafet e feed: giue 59 "meve: 151

ardrd A9 2tse foh wafa ?

(1) Srgarg

2)
(3) T
(4) ufaqo

Options:-

.1, Option ID :- 369,
« 2, Option ID :- 370,
. 3, Option ID :- 371,

« 4, Option ID :- 372,
Answer Given:- 2, Option ID : -370

Question ID:- 94
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areiiferiaart= wentw afswen ue famcaraentoa: Sfaqaad s faqa |
I Tt 9 = famr fad =3

Torert 7 e sded aga ag=ii 111

HIT T H:, @i ToareaeE T |

T vitgred S, Fe=an sigad gumi 211

hTeh: o TUeh: W:ﬁ‘ﬁﬁ:ﬁmzl
FETEHA T G Fh: Fh: f0: ek 11311
ﬂ“ﬂ:ﬂ"@ﬂﬂ”ﬂ:qﬁ{ﬁ,ﬁﬁﬁﬂfw =< 2: |
FATEAA: W< T THEHEE Y 141
e fefen qaerenn femmeral M FmfeRrst: |
Jar drfe e feud: gfyen 38 ameve: 11511

(

(2) wE] + FUA

(3) HE + L

(4)  9E + YT
Options:-

.1, Option ID :- 373,
. 2, Option ID :- 374,
. 3, Option ID :- 375,

. 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95
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srelifeiaart= went= ufswn ug fomcuraenvoa: faqad s faqq|
T T W = famr faed =)

Forert 7 e sie ag@ ag=ii 111

HIAT AN YH:, @ T e |

T Sirgre Arard, Fe=n g g1 211

Hlh: FO1: T9eh: W:Eﬁ[ﬂﬁ:ﬁﬁﬁﬁ:l
TS UTH q leh: hiek: e ek 11311
‘Iﬂﬂ:ﬂﬂlﬁﬂﬂﬂﬂ:ﬂaﬁ,ﬁﬁﬁﬂfw =< S: |
HATATEAAT: Feraf=<1 T2: HHEHIEmE Je=<igud: 11411
s fefar caerenn femmeran M FmfeRrs: |
Jar drfe e feud: gfyen 38 ameve: 11511

TRy - S ag T faft: ?
(1) T
(2) weHl
(3) fodn
(4) el

E

Options:-

.1, Option ID :- 377,
. 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 2, Option ID : -378

Question ID:- 96

rsfiferiiaa wenst fasetsa: sfomaad s famr Rememfy g |

THST FHUS: TF HE Yd: TR a8 96 FT=sd | T FOmd: 7 T = 97 giwves snfaeay
HFE | A BAl HihUs: SRud - Ta ! o1 vadi SR 98 31T | e 3eHE HH 99 Ad E

TR WIS I 100 e | 99 TR el 95 101 SaH | HE R 102 wHe: 9i< 1" a8 Hemfd:
sraeq - sl 103 ot®) e wia

(1) H&Hq

(2) T

(3) &T9UH
(4) &
Options:-

.1, Option ID :- 381,
« 2, Option ID :- 382,
. 3, Option ID :- 383,
. 4, Option ID :- 384,
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Answer Given:- 2, Option ID : -382

Question ID:- 97

arehifefad enst fasmads: Sfaaad s faar fmemfy g )

TR AIHUS: 7 HE YId: TdaeH a8 96 3TEI | 97 FOHfd: A fUa =g 97 gisvesy sAfasay
FHA | U 21 Hiehvs: sTehuad - ' THa | ofE Wadi Hehiu 98 311 | heel seHd HH 99 Aq Td
T8 Wehis T 100 e | 99 Serr™ el &g 101 SaH | 59 e § 102 HHeU: |i 1" 981 Femyf:
sreRd - Al 103 o190 s Wikl

(1) @i
(2) ehicTaa
(3) TE
(4) EE9EFA
Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

- 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98

areiiferiad Teny fasmeaea: Sfemad 3o ferer et v |

TS HehUS: OF UE UId: qaaleH a8 96 3FT=d | 99 FOHfd: H fuam = 97 dieveey sfasay
ST | Uad =0al F1hva: Tehuad - i) ofE vadi Heenm 98 #If | hae seHa A 99 Aq E
T2 TahIs T 100 1R | 79 HehRE wadi 98 101 STAH I A9 Y8 g 102 FHeEwU: Ji< | e Femfd:
staeq - ! 103 on e wf<”

() § g
(2) fa=
(3) gH=:
(4) HIgH:
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99
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arehiferfaa Tenst famcds: sfamad st foen fmemfs grm)

THEl A3 GF HE UId: A8 a8 _ 96 3Ted | 97 FHofd: 7 U@ =9 _ 97 diehvesy snfasay
FFa | A 2al FieRua: seRuad - 3! o vadi AR 98 3T | Shee SeRd HH 99 Ad E
T8 WIS T 100 e | 99 HeehF woiedi &g, 101 SGH | 79 78 102 FHeRL: i 1" T Fomfd:
saed - Al 103 o8 wEHET: wiw”

(1) fomme:
(2 TE@q
(3) fer=
(4) TIH:
Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100

reliferfad wenst fasmcdsa: sfaaad s famr ety awam )

THal GihU3: §F HE Ud: FaaRH T84 96 3FT=sd | aF FOmfd: " fUa = 97 giwves sifaeay
HFE | A 2al s seRuad - ! o vadi AR 98 S | SR SeRE HH 99 Aq E
T8 WIS T 100 e | 79 FehR ol &g, 101 SGH 1 A9 T8 g 102 FHew: 9= 1" a1 Foomfd:
staed - sl 103 o8 s wi”

(1) 3%
(2 FFC
(3) H™:
(4 THH
Options:-

.1, Option ID :- 397,
« 2, Option ID :- 398,
. 3, Option ID :- 399,

- 4, Option ID :- 400,
Answer Given:- 3, Option ID : -399

Question ID:- 101
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ssiiferiaa eyt fasmctsa: sfadad st famr Rememfs g |

THST FHUS: TF HE Yd: TR a8 96 FT=sd | T FOmd: 7 T = 97 giwves snfaeay
HFE | A BAl HiRua: SRud - T o1 vadi SR 98 31T | e 3eHd HH 99 Ad @
& WIS 9 100 e | 79 FehRE ol &g, 101 SGH | A9 T8 102 FHe: 9 1" a1 Foumfd:
saed - Tl 103 o wHET: |

(1) =¥

(2 HEq

(3) foerws:

(4) T
Options:-

.1, Option ID :- 401,
. 2, Option ID :- 402,
. 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 1, Option ID : -401

Question ID:- 102

srsiiferiiaa wenyt fasctsd: sfemaad s famr Rty g |

THE! FHUS: §F HE Yd: TR T4 96 =5 | T FOHEA: 7 G = 97 Fiwves sifasy
HFE | A 2Al Fihus: HeRudad - THa | o1 vadi SR 98 311 | SR 3eHd HH 99 Ad E

T8 WIS T 100 e | 59 FehRF ol &g 101 SGH | 59 T8 102 FHew: 9= 1" e Fomfd:
seed - Al 103 o wHEeT: wf”

(1) ==

(2) eI

(3) @

(4) e
Options:-

.1, Option ID :- 405,
« 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103
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riiferiaa eyt fashctesd: Sfedad s faar Reneemfy g |

TR AIHUS: TF HE UId: qdaed a8 96 3TH5d | 07 FOHfd: A fqan =9 97 gievesn sAfasay
HFA | TAd 21 Hiehve: siehuad - THa | ofE wadi SR 98 317 | oheel seHd HH 99 Aq Td
T8 Wehis T 100 71 | 79 Wepr™ el &g 101 SaH | 59 TR § 102 He: §f 1" 91 Femgfd:
sreRd - ! 103 o191 s Wikl

(1) 3=

(2) HHAIMY

(3) Ay

(4) Tommersty
Options:-

.1, Option ID :- 409,
« 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104

arehifefad eyt fasweus: shaaad v famr feremts 9=

T T T uSe 104 ol | v foE fagrern qea wh: 105 ST 99 U8 g | Fafde: §
edH 106 R G hicel 107 3IREg: | 9o ST gaTd o9 a fdgw 108 ST U
FEIR R | TaHE a: 9R 9’ e 109 | g fHE sasa: 110, TSifd W feRafy sgaaeed: g
famfa

(1)  STermm:
(2 &
(3) HFR:
(4) o
Options:-

.1, Option ID :- 413,
. 2, Option ID :- 414,
. 3, Option ID :- 415,

. 4, Option ID :- 416,
Answer Given:- 2, Option ID : -414

Question ID:- 105
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arehfefad eyt fasdeusa: shaaad 3w o femremt 9= |

T T T EE 104 FEf | e fog fagre g wh 105 ST a9 UsS aAif | Fsfhe: |
TedH 106 T A Hieel 107 376G | dod SR e oTR: ar: fdew 108 s U
iR ARl | tahe g 9 9) f9E 109 | e e sawm: 110, Teifa ) Rl swduemed: w
fosfa

(1) Hfaer
(2) "
(3) @M
(4 FF
Options:-

.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,

. 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106
reiiferiaa Tenst fasmeusa: sfeaad s Faer st graa |
T 79 THIG wAH 104 Tl | U i fagrea 988 wh: 105 ST 99 T8 A | el |

YedH 106 W A hfael 107 3TEE: | dod SRR gaTd o9 aMG fiee 108 e U
iR SRR | Tahe g 9’ 9) 698109 | e e s 110, Teifa R Rty wjuemed

(1) =i
(2) Tr=sfd
(3) wHgFfd
(4) ®Efd
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107
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srsiiferiiaa Tenst faswetsa: feqaad st faer ety graa |
T TYE THIG T 104 =l | T T fagren 98a wh: 105 T 99 T8 | el
TedH 106 R A hieel 107 3TEE: | Ged ST JaTd T A foee 108 ST
a9 el | vahe aF: R 9R 698 109 | e e 3ok 110, TSifa W1 fEafa sgaamd: v

(1) Rwm
(2) T
(3) T=H
(4 9&H
Options:-

.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

rsiiferiiaa wenst fawetsa: Sfeqaad st faer ety graa |

T T9E THIT T 104 Tl | ue: T fagren wie wh: 105 e 99 1= o $efhe:
edH 106 T A el 107 3TG: | Ged SRR AT ST A e 108 emEs I

&R SAREf | taHe o 9i 9r f9E 109 1 e fHE s 110, Teifd W fRafy shqaeme: g
famfa

(1) v
(2 T=
(3) HEH
(4) M
Options:-

.1, Option ID :- 429,
« 2, Option ID :- 430,
. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 1, Option ID : -429

Question ID:- 109
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areiifefad eyt fasretea: et s fomar RemrarT aram )

T T g uae 104 oefd | v foE fagrea 95a wh: 105 SR 99 Us8 A | pefde: @
yegd 106 9 A il 107 3TEeS: | ded ST gATd AW 9 e 108 e g
IR AR | ToHE am: aR 9/ 698109 | e THe sawa: 110, Teifd 9 foRafy sduemed: 1
femfa

(1) =g
(2) wvaf<d
(3) Al
(49 TaH
Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

« 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

areiferfiad eyt fasmedsa: sfaaad s femn R gaa)
e 79 UHIY WA 104 =efd | U fog fagrad aee w105 AT 9% IS gAifd | $EE: d
YeqH 106 TR G Hicen 107 IEE: | ded SR g4I o9 aFe: fies 108 e A

iR efd | tate g af gk f9g 109 1 e fr e 110 |, Teifa W) fEufu Fggemed: 1
fagfa

(1) T
(2) HmEfd
(3) e=fd
(4) e
Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 2, Option ID : -438

Question ID:- 111



https://aview.in/
https://aview.in/category/previous-papers/

aeiiferiaay veiramvr fasheusa: sfemad sw fam femwemf gwm)
Hag SRR T ofeE 111 denii1

v A FHEH T 112 T WI@EH 11211

g9 geq 113 fammfa =g =afa 9113 1

T a8 FgH ST 114 A SAH 1 411

T fegas 115 wfaenf< q@ gm: 11511

1)

)

)
4)

<hddl

Heddl
faumE:
SHHEHA

(2
(3
Options:-

.1, Option ID :- 441,
« 2, Option ID :- 442,
443,

- 444,
:- 2, Option ID : -442

. 3, Option ID :-

- 4, Option ID
Answer Given

Question ID:- 112

eiiferiaay yeireniory fashetsa: sfeaad 3w famwmr fmmeemf g )
Heqr ek W efed 111 deni1 i

vy A FHEH T 112 T WEEEE 11 211

g9 gad 113 fammfa = =wfda =113 11

A T FE S 114 AW SAH 11 411

7 fega= 115 yfaenf q@ gm: 11511

3T

Fafrdared

T
il

1)

)

)
4)

(
(2
(3
(

Options:-

.1, Option ID :-

Answer Given

. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

445,
446,
447,

448,
:- 4, Option ID : -448

Question ID:-

113
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refiferiaay yeirem vy faeheua: shaaad sw famwer femwemf gwm)
Heer SRR T ol 111 demii1

v s w w112 | AL 211

gd geq 113 famafa s afa w1131

e T e S 114 F9 SAH 11 41

7 fegae 115 yfaenfa 5@ g 11511

(1) wEd
(2) ==
(3) "
(4) oY

Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

IRy yeirer v faemeue: Sfemad so fermm femeem ga
Haqr g g el 111 denii1

v A I HE T 112 F WI@ud 11211

g9 geq 113 fawmfa =g =wfa 9113 1

Tl o T S 114 A SAH 411

7 fegws _115  wfawnf< 5@ g 1511

(1) ="
(2) femn
(3) Ffw
(4) TE=dl
Options:-

.1, Option ID :- 453,
« 2, Option ID :- 454,
. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

Question ID:- 115
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g9 e 113 famafa=m afa =131

(1) <A
(2) e
(3) fee=
(4) FUE
Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

reiiferiiaay yerram vy fasheua: Sfaaad sw famr fmemrts ge)
Heqr SRR g el 111 denii1
v S T 112 T a1 211

TR 8 aEw S 114 T390 S 1 411
Fflegas _115  yfawnf< 5@ gm: 11511

Question ID:- 116

(A)

(A) = fufaees nfa (1)
(B) Tl Sita =g (2)
(C) Hea gufs: g3 (3)
(D) forem sy faerm (4)
(1)  (A)-(3), (B)-(1), (O)-(4), (D)-(2)
(2)  (A)-(3), (B)-(4), (O)-(1), (D)~(2)
3)  (A)-(2), (B)-(3), (O)-(4), (D)-(1)
(4) (A)-(4), (B)-(2), (O)-(3), (D)~(1)
Options:-

.1, Option ID :- 461,
« 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462

(B)

I Fgfa Ta
feren o <&
RIECIEIRGIDIE
e R fe fosfa

Question ID:- 117
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T S T Ud Wi - TTe A Uhae YeEy fod |
(1) HHAIH: Saan: Te T§

(2) IO SEal I8 T Wi

(3) YT <& 72 ua |

(4) YA Sad e T S

Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

arereh: Tosn 98 s Tesfa - sifeRd A forgaiads & |
(1) =fcAeht fo=n & srqon Tesfa

(2) fersh | HE S T

(3)  STeteh: HIEN He A e |

(4) =TcIeR: o= He s =i |

Options:-

.1, Option ID :- 469,

« 2, Option ID :- 470,

. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

3T S T ARTSSi - deHad g s aiEad |
(1) 313 S GHe™ ST

(2) 313 S G ATES

(3) 373 S A sAntasAf<

(4) &3 S T ST

Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 1, Option ID : -473

Question ID:- 120
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o4 wd g fHam: - 2% g geHyey foh §Y9 9ed ?
(1) 31 9d = foem:
(2) @ 9d g faefa
(3) d &d yr=d faaf
(4) FH gd g fHay
Options:-
.1, Option ID :- 477,
. 2, Option ID :- 478,

. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Question ID:- 121

(1) fagd
(2) frfarem
(3) HeIHeH
(4) HaASER
Options:-

.1, Option ID :- 481,
. 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 2, Option ID : -482

Question ID:- 122

Fedd: — YgHdd sTEifafEdy % A4: add ?

(1) =
(2) W™
(3) e
(4) FH:
Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123
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() T
(2) R
(3) HH
(4) =
Options:-

.1, Option ID :- 489,
« 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 3, Option ID : -491

Question ID:- 124

Tfed: - wsEIsT erefifafady w5 oref: o ?

(1) 95
(2) Sfea:
(3) T:
(4) ©AHE:

Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125

(1) s
(2) =R
(3) fem:
(4) s
Options:-

.1, Option ID :- 497,
« 2, Option ID :- 498,
. 3, Option ID :- 499,

. 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

Question ID:- 126
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(1) 7
(2) &Ava:
(3) =
(4) foerre:
Options:-

.1, Option ID :- 501,
. 2, Option ID :- 502,
. 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

() HY
(2) I
(3) TheTH,
(4) =T
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 4, Option ID : -508

Question ID:- 128

SR: 3eae vreae faeimrede: foa |

(1) fem:
(2) 4
(3)  AHd:
(4)  =RfeE:
Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 2, Option ID : -510

Question ID:- 129
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(1) Tifa:

(2) wnf:

(3) wfE:

4) o
Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 4, Option ID : -516

Question ID:- 130

(1) fg=
(2 =
(3) W
(4) =W
Options:-

.1, Option ID :- 517,
« 2, Option ID :- 518,
. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Question ID:- 131

‘T e Wifqufese ol faver aga=H foh &9 wafd ?

(1) TS
(2) TN
(3) &R
(4) &
Options:-

.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132



https://aview.in/
https://aview.in/category/previous-papers/

Y — UgHdq @y’ wifadfesey foh &4 o ?

(1) v=Hl fawfs:, Tha=Ty

(2) wadr faufs:, fga=mm

(3) faeiran faufe:, sga=my

(4) =gt faufs:, =g
Options:-

.1, Option ID :- 525,
« 2, Option ID :- 526,
. 3, Option ID :- 527,

- 4, Option ID :- 528,
Answer Given:- 1, Option ID : -525

Question ID:- 133

Tt v wEt favel w1 Ewifor saf ?
(1) +&m: FEIam  A&:
2) T8 T AEem

(
(3) F=m R A
(4) TE: TR FEEE

Options:-

.1, Option ID :- 529,
« 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

qa=il — =fd Yo s foh &9 odd ?

(1) g fauf:, sga=my
(2) Toern favfs:, fga=mm
(3) =gl faufd:, wha=y
(4) TEHl faufe:, TwaET

Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135
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I Y2 HHHifaY], The=r foh €9 vafd ?

(1) Wy
(2) HEL:
(3) i
(4) W=
Options:-

.1, Option ID :- 537,
« 2, Option ID :- 538,
. 3, Option ID :- 539,

. 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

gferg, v, fem=rm

Options:-

.1, Option ID :- 541,
« 2, Option ID :- 542,
. 3, Option ID :- 543,

- 4, Option ID :- 544,
Answer Given:- 1, Option ID : -541

Question ID:- 137

qog Yeeed Fqel favel, sgae foh w4 vafa ?
(1) FWr

(2) FarEm
(3) g
(4) T
Options:-

.1, Option ID :- 545,
« 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 3, Option ID : -547

Question ID:- 138
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Taq (Sifay) e sgHifasl, Theem foh &9 vafq ?

(1) TaA:
(2) Tden:
(3) T
(4) T
Options:-

.1, Option ID :- 549,
. 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 2, Option ID : -550

Question ID:- 139

(1) &  FHEH HA
(2) HEA wAE 9y
(3) HE: FA: HY
(4 FEH FA: Y

Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 4, Option ID : -556

Question ID:- 140

Options:-

.1, Option ID :- 557,
. 2, Option ID :- 558,
. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558

Question ID:- 141
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“yifon” gfay g wmel: R deRE w9y i ?

(1) CgahT:
(2) Tafefagesr:
(3) TR
(4) TR

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

- 4, Option ID :- 564,
Answer Given:- 4, Option ID : -564

Question ID:- 142

VU YR SRR YIHYEy, THae T §1 vafd ?

(2) T
(3) ToE
(4) fueafd
Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143

S Tl S Heamge fga=e fh w9 wafq ?
(1) =9

(2) ee:

(3)

(4) Afr=e:
Options:-

.1, Option ID :- 569,
« 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144
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‘g fd var o fE w1 2
(1) TiceTshll:, 3THILY:, THd=ITH
(2) TAREEHR:, FEHgEy:, T
(3) Tafufae, ST9ges:, THa=T
(4) @A, HEHYEY:, ThddTH
Options:-

.1, Option ID :- 573,

« 2, Option ID :- 574,

. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Question ID:- 145

‘gefRr’ - UeHdd T U B add ?

() V=
(2) V=&
(3) IR
4) JEed
Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,

- 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

Question ID:- 146

‘e - UeHA VT YL 1 R ' A ?

(1) TEEEhR:
(2) fafufes ower:
(3) TR
(4) AR

Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
. 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147
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(1) T
(2) si2A:
(3) TS
(4) U

Options:-

.1, Option ID :- 585,
« 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

Options:-

.1, Option ID :- 589,
« 2, Option ID :- 590,
« 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149

T T I Hal 3 ?
(1) e

(2) e

(3) =&

(4) @
Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150
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Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

- 4, Option ID :- 600,
Answer Given:- 4, Option ID : -600

Question ID:- 151
T9: SR 7 &eIfd — TR e AYeEiihd e foh sReh T ?
(1) H

(2) AfuRTTy

(3) HHEHH

(4) <R
Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152

Y Fehay foh 9afd ?

(1) =T
(2) sfeERToT
(3) =H
(4) kel

Options:-

.1, Option ID :- 605,
. 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 1, Option ID : -605

Question ID:- 153
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AUEHFRFS Ar F9 favs: v I ?

(1) g
(2) EEH!
(3) TEHl
(4) o
Options:-

.1, Option ID :- 609,
« 2, Option ID :- 610,
. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

‘o1’ I AN faafe: ggeEd ?

(1) 9=
(2) W
(3) =gl
(4) fadrm
Options:-

.1, Option ID :- 613,
. 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155

fedtenfaufs: sifafary w01 96 93 ?

(1) e
(2) =
(3) &=
(4) 3YFa:
Options:-

.1, Option ID :- 617,
« 2, Option ID :- 618,
. 3, Option ID :- 619,

. 4, Option ID :- 620,
Answer Given:- 4, Option ID : -620

Question ID:- 156
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(1) 57
(2 75
(3) 87
(4) 37

Options:-

.1, Option ID :- 621,
. 2, Option ID :- 622,
. 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 1, Option ID : -621

Question ID:- 157

68— 3TET: HEHTaTHH: Yea: whisf ?

(1) ufs:

(2) wEwHa:

(3) 3TwmfE:

(4) wefef:
Options:-

.1, Option ID :- 625,
« 2, Option ID :- 626,
. 3, Option ID :- 627,

- 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158

@l + 3fH: - HRIfH: 3o wiufRy |
(1) gfgEf:

(2) Tt

(3) smfEHf:

(4) <reiaf:
Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159
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(1) Y+ AHTH

(2) 91+ THAH

(3) FHET + HAH

(4) 9Y+ SHTH
Options:-

.1, Option ID :- 633,
« 2, Option ID :- 634,
. 3, Option ID :- 635,

« 4, Option ID :- 636,
Answer Given:- 1, Option ID : -633

Question ID:- 160

‘grefisT SAfET 9% o | add ?
(1) =@t

(2) =EIHEt:

(3) ereEf:

(4) fawriaf:
Options:-

.1, Option ID :- 637,
. 2, Option ID :- 638,
. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 4, Option ID : -640

Question ID:- 161

T+ i - o7 e e |

(1) wee:
(2) dee:
(3) dge:
(4) d=AE:
Options:-

.1, Option ID :- 641,
« 2, Option ID :- 642,
. 3, Option ID :- 643,

. 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162
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(1) &+
(2) w1+
(3) T+
(4 §+A
Options:-

.1, Option ID :- 645,
. 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163

‘IUFI ' TR I THEE SeEluH 31 ?
(1) wgdife:

(2) degEs:

3 &

(4) s=EiYE
Options:-

.1, Option ID :- 649,
« 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

SHaEe | - 3 HEYeH fauE Fed |

(1) 378 Fq

(2) & FEY

(3) A& JFH

(4) I
Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
. 3, Option ID :- 655,

. 4, Option ID :- 656,
Answer Given:- 2, Option ID : -654

Question ID:- 165
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(1) Hiemroe:

(2) FHOTEU:

(3) T

(4) TEiE:
Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

(1) FHYRE

(2) AT

(3) &%

(4) HACTEHM:
Options:-

.1, Option ID :- 661,
. 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 3, Option ID : -663

Question ID:- 167

FAeifafEdy vt qeqeueaEe 5w fay s ?
(1)  aferias

(2) FISIH
(3) A
(4) vgeETe:
Options:-

.1, Option ID :- 665,
« 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Question ID:- 168
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(1) =3
(2) FA
(3) =UH
(4) A

Options:-

.1, Option ID :- 669,
« 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

seifeafady fory e/ = sife ?
(1) =%

2) o=
(3) THA
(4)

Options:-

.1, Option ID :- 673,
« 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 4, Option ID : -676

Question ID:- 170

Frfafany wmaaesy oo fFm i ?
(1) w

(2) ¥

(3) =g

(4) YT

Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
. 3, Option ID :- 679,

- 4, Option ID :- 680,
Answer Given:- 2, Option ID : -678

Question ID:- 171
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(1) Y™

(2) 9HY

(3) =

(4) TSI
Options:-

.1, Option ID :- 681,
. 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

TR aTey aeifed |vied §od |
o Tormerd 1 &l |

(1) B forned sieae et

(2) B formed stead i
(3) BEN: TR eEH Sga
(4) o o e st

Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

srsiferfiaay are el St o |

(2) T FHOMF TH

(3) Hh: HW TH;

(4) 9H: FO THd
Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174
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(1) :

(2) wEdHE smfavifd: femt et
(3) wEdHE swrfEwfd: fo: vafd
(4) wEdHY sEfgurd: feAr qaf<

Options:-

.1, Option ID :- 693,
« 2, Option ID :- 694,
. 3, Option ID :- 695,

« 4, Option ID :- 696,
Answer Given:- 2, Option ID : -694

Question ID:- 175

srehferfiary amery wehfer woiter e |

T va Fefagi gEeEy -

(1) & 9o Helfay FEEEH sE|

(2) T I FEfaH GEERA T
(3) A ¥eA HafauE gEaeH i
(4) == ve welfau gaaeE st

Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 1, Option ID : -697

Question ID:- 176

3ifeARady arey Aefifed o= &&d |
I YA FTeRl: F9fd T

(1) F&= WrEry ek aHid &

(2) T AEEI R g9

(3) T RG] HIHT: TEf

(4) T ANGAT R THA

Options:-

.1, Option ID :- 701,
« 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 3, Option ID : -703
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Question ID:- 177

reiiferiaay aredy areauitads Hod|
T[T T[OTRY UM e | (HTEaTe)

(

(3) IO TUIAY TOM: S
(4)  TOMSHTH TORY TOM: 9
Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 2, Option ID : -706

Question ID:- 178

arehiferfaay aredy areuiads Fod|
T U g5 TS | (Fgarsa)

(1) & T T vaim

(2) T T g veH

(3) o€ Th P& USId

(4) TR TH T IS

Options:-

.1, Option ID :- 709,

« 2, Option ID :- 710,

. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Question ID:- 179

srsiiferiaay aredy arerufiads Hod|
HTeATh: Goi: HedT: TEAf- | (FHar=)
(1) TR I8: Hiell: T

(2) HIETHRRI: Yo HIE: A

(3) HIATHIL: H@l: HIEAT: T

(4)  HICATRI: ﬂ'sﬁ HIEAT: T

Options:-

.1, Option ID :- 713,

« 2, Option ID :- 714,
. 3, Option ID :- 715,



https://aview.in/
https://aview.in/category/previous-papers/

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180

rehiferfady arady arsaiady Fod|
T T JAfd | (HEaTA)

(1) =% FIA Ford

(2) HIU: SH FeAd

(3) HHL WM TA

(4) TG FTH T
Options:-

.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 1, Option ID : -717
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